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Run 4403 triggerwise, sums: All

Entries: 2411499

Mean: 5219.0650 +/- 2.6227

Std Dev: 4072.8622 +/- 1.8546

Run 4403 triggerwise, sums: All
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Run 4403 triggerwise, sums: Beam OFF

Entries: 1953

Mean: 2066.9140 +/- 51.4814

Std Dev: 2275.1057 +/- 36.4029

Run 4403 triggerwise, sums: Beam OFF
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Run 4403 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 674922

Mean: 5799.9765 +/- 5.7616

Std Dev: 4733.3695 +/- 4.0741

Entries: 674379

Mean: 5808.7926 +/- 5.7497

Std Dev: 4721.7082 +/- 4.0657

Run 4403 triggerwise, sums: Beam ON, Laser ON
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Run 4403 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 456509

Mean: 4427.0512 +/- 3.9683

Std Dev: 2681.1850 +/- 2.8060

Entries: 456459

Mean: 4425.4217 +/- 3.9199

Std Dev: 2648.3287 +/- 2.7718

Run 4403 triggerwise, sums: Beam ON, Laser OFF
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